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KEEEHA FIA4 VICEISEBIER OKESEXE)

RETRELGK
Wk X5 =5 PI% H30 PI& R7T PIiE R2 PI{# =<1 SER
A101 FIREBIESRIERE 0.65 0.67 0.71 (mg/L) REBIEREE G RBIERAEDE
Al02 BRAHERVMEREKEEEHX 0.0 0.0 0.0 (%) (RAHERERE/ KEE(E) x 100
A103 #BUI\OXYBEKEEELK 22.0 27.0 24.0 (%) 3 (fR7KARDFMNDM VBEY #aKA2EK) / KEE#fEX 100
A104 Bt (TOC) BEKEBEELXK 30.0 30.0 30.0 (%) 3 (MKEDBHY (TOC) BE/ EKiEE) / /KEE4MEx 100
KEEE Al105 EEEEE/KEEREXK 0.0 0.0 0.0 (%) 3 (K DHZESRBEE/ fa7KIEER) / KEE%EEx 100
Al106 \EHYEREKEEELR 25.0 20.0 20.0 (%) > (fR7KAEDHERBHMBEIRE/ #6/K1220) / KEE%EMEx 100
A107 BHtFMEEEKEERELK 0.0 0.0 0.0 (%) S (fRKAE DU B EMERE/ #a7KieER) / /KEE%EEx 100
FE A108 |HEEIAREEKEEEELLR 30.0 30.0 40.0 (%) 3 (faKAE DR HSBRIERIIRE/ #7K1220) / KEBE%EMEx 100
A109 EREEKEEEREL 0.000 0.000 0.000 - max Z(Xij/GVj )
A201 [FEKKEBERRE 186 183 184 (I58) FOKEESIRIER 2L
A202 |fa7kiEKERE (BH) BFEE 9.9 9.9 9.9 (BFf/100 km?)  (FAZAKEBRE (BH) HUKERE/RER/KERE)%100
e A203 |Be/KitEIEEMmER 31.1 43.7 31.0 (%) (5EFRITER UIEKERMEE / BokthEME=E) x 100
A204 |EHERIKR 64.9 65.6 65.8 (%) (EREFAKIEER /487K F41) X 100
A205 |BF/KIEIKEISESR 1.3 0.7 0.0 (%) (AT7KAE/KEBIS B / BT/KIBKIESR) x 100
B A301 |KIRDKESBHFEL 0 0 0 () FRKFKESE R
A302 | #FREMRNIBLEER 0.0 0.0 0.0 (%) (MFRTE R RIYEKE/FRFKE)x 100
s EE A HER T A401 PABUKEKER 31.9 30.9 29.9 (%) (SREMEK B/ FaKHF#2) x 100
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RZE L=KDHE

pap By &S PI& H30 PIfE R7T PIfE R2 PIfE Bifig sE
B101 ECEBAEE 0.0 0.0 0.0 %) (B RAKEKE/2AB0KE) < 100
B102 BUKE 1M’/ DABURSIZERE 0 0 0 (F/mM) KRR CHE LT B/ Ak E
B103 HIFAE 0.0 0.0 0.0 (%) (MFABKE / FRIBUKER)X 100
B104 HEERFIFIE 46.7 45.9 46.5 (%) (—ETIRKE/HE5HE7) x 100
B105 BAMKIE 52.0 49.2 49.8 (%) (—ERABUKE/M558E7) x 100
B106 &f® 89.9 93.4 93.4 (%) (—ET9RKE/—BRARAR)x 100
B107 EUKEMEREE 19.8 19.8 19.8 (km/km?) BRSO ER
B108 EHIAE 31.0 31.9 25.8 (%) (iR U BESIER / ERIER) x 100
MEIE | B109 JULTSME 0.4 0.4 0.0 (%) (=R UTZ)ULTE / JULTSES) x 100
B110 J@kE 4.7 3.8 3.9 (%) (FRIRKE / SFRIEKE) X 100
Bl1l BME 95.0 96.0 95.9 (%) (FRFERKE / FRIBIKE) X 100
B112 ABIRE 92.4 93.1 93.2 (%) (FRIEUUKER/ FFRIBKER) X 100
B113 AUACLATERAE 0.56 0.57 0.56 (8) RAERESE/— BT IRKE
Bl14 #akAO— AN/ OEKE 330 324 329 (/BN (—ETEEKE/SAERAAD)x 1,000
B115 #AAHIREM 0 0 0 (8) RS HIIR 12K
B116 fA/KERE 100.0 100.0 100.0 (%) (RAERK A C/HKRIEA A L) x 100
B117 | RfEmiREHE=R 17.6 16.6 17.5 (%) (RIRTEEREY Hit - B - STERMER DAETEY) x 100
maem B201 #KBEHEIS 1.00 1.00 1.00 (FF/10 - B | L0FBORKBELBRIR / #KB5
B202  EARBSHIAACE 0.0 0.0 0.0 (%) (BB A C/BRAERA AL X 100
B203 #akAO—AM/DEFEAERKIKE 94 94 94 (L/A) (AR x 1/2 + AU KIBZER) x 1,000/ BAEKAND]
B204 EREOBHEIS 0.4 0.1 0.6 (#F/100 km)  EREOB@MIFE /( ERIER/100)
B205 EREROBREE 0.7 0.0 1.4 (#F/100 km)  EREHEOBHRITL/ (EHEWER/100)
BHUEMR | B206 HEBWOBHIES 0.4 0.0 0.6 (£/100 km)  ERREIROFHITE / (BREEWIER/100)
B207 IFHEEROEHRIA 0.0 0.0 0.0 (#F/100 km)  IFSKBEREOEMRITE / GHEBERIEE/100)
B208 fakEDOFMAIS 5.3 5.3 5.4 (#F/1,000 #F)  #E/KEQBHUFER / (KKIFE/ 1,000)
B209 #AKAC—AZOTIMK - BARSRE|  0.00 0.00 0.00 (B57) Sk KBRS x WK - BRIk AD) / BHERAAD
B210 SSENSRIIMEIEE 9 10 8 (E/%F)  EROSEHRIREE
B211 HNRBEENE 5.2 5.1 5.1 (E/m)  HARE  BKEER
B301 EUkELm3 H/z DB HEE 0.45 0.45 0.45 (kWh/m?)  BHEREOA / FHEKE
B302 AUKEIm3 M7z DBEIFILF— 4.49 4.52 4.49 Mym?)  IHRLF—EEE / FHEkE
o iigzgm SO LR (€0 244 244 171 (g-COy/m?)  [CHLRTE (CO2) HHHE / ZERIEKE] x 10°
SRSEN Lt a1y = (== = =L e =
B304 FERAETFILF —FIFPE 0.00 0.00 0.00 (%) ffmbl*}b*_mﬁ@%b@mi/ FIAOBIGRR x
B305 kR TOBMAIFE 100.0 100.0 100.0 (%) (BMAIRTE / KR TR) x 100
B306 RBEEMOULAIILE 100.0 100.0 100.0 (%) (UBA DL ESERREENS /| RREENFER) x 100
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ZE LT=KDOERE
DHE X5 &S PI%& H30 PIE Ryt PIE R2 PI&E BAfi7 SHER
gm | B0 DUFIVBRE - HEE 99.8 99.8 99.7 (%) (D051 VBHEIEE + MELE) / BIRIEE] x 100
X B
> B402 EIROFEER 0.06 0.09 0.20 (%) GhYERER/ERIER)x100
BS01 | A BB A K 0.0 0.0 0.0 (%) CEEMAESREBR T\ 3R KHEE /23 KHEaREE ST ) x 100
SEET B3 CU\DHM - BE - SREBRR EDBE
B502 SEEMRIESBERIHE 65.6 66.2 67.7 (%) CREMRIFIERR C\SH - B - SRR C ORI
- e, - BE - SHERER S DA x 100
e BS03 EEMAGMBAEIE 37.4 38.5 39.4 (%) CEEMAESEBZ T\ 3SR/ SIITEE)x 100
B504 EIROEFHK 1.11 0.94 0.85 (%) (BFEINCERIER/EBER) %100
B505 EIROE4ARK 0.000 0.000 0.000 (%) (BESNERER/ERIER)x100
B601 | RAEDE/KRLER 0.0 0.0 0.0 (%) (RKAEAE )/ 2 3 K 6a%AE ) X 100
B602 | /KHERDMEBILE 39.3 39.3 39.3 (%) (MBS R DM & T B K MR e /258K MBS 1) X 100
o : [GhRE - 3BEET BHBOMEEKEREEN + 3 BOH RO
B602-2 iFKiEsRDEEBESYIMELER 39.3 39.3 39.3 %
PRIRDERBENMR o AP )/ 3P HERRAE] X 100 i
5603 1o SRR iy cau 261 o (lmoﬁéﬁiﬂ‘ﬁﬁaﬁ’tﬁéﬂt7'._71'\/jFﬁﬁujj/fnﬁfthi“J%%/‘l'\/jFﬁﬁcb)><
MR B604 | BRAHODME(LE 78.5 78.4 65.1 (%) (B RO S N R BN S R/ BN SEYESE)x 100
B605 EROMEEXR 23.4 24.4 24.4 (%) (MEELE/ERILER)*x100
B606 EHEHOMEER 472 49.1 50.1 (%) (HREROS SHEEEE/BSERIER)x 100
B606-2 EREROMBESE 47.2 49.1 50.1 (%) (BESHERDS SMEEAEDS 3 EEIEE/ RS EIIER)x 100
B EAE EKHBTIK S DS BRI KRS
* B607 EEHKIGREKEHEOMEER 61.4 62.7 64.0 (%) S%f;:f”ﬁ SECKEIR0) S SIREIE &/ B Rie AR BT
i : (EBEKEREUKEED S SHEEAS DG 2 B E/ BB
B607-2 ia B EROMEBESEX 61.4 62.7 64.0 %
EE KA K E R OTEE (%) D ———
B608 |{=EIFEIKEMRFREER 18.6 18.9 7.8 (%) (%S ER (CHER T & DE/KEEN/—BFI8KkE) x 100
I (TR R e — B AR X (R AT/
B609 EmieEH 34.1 33.8 44.8 =]
REREES & taRH— B EERE) DS, NENBDE
B610 MARMBEZE 0 0 0 8) TR — B EE R
B611 GatarkiERmE 19.7 19.7 19.7 (EFF/100 km?)  oEia/kiEsa 2 (BIE/KEE/100)
B612 |{A/KEEIREBE 0.004 0.004 0.004 (&/1,000 A) fa7KER %Y/ (BRTERRZKAO/1,000)
B613 |EHADGKY > IREE 0.027 0.027 0.027 (m3/1,000 A)  |EERRKY > ODEE/ (K AH/1,000)
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BELGEXERE

Wk X5 =5 PI% H30 PI& R7T PIiE R2 PI{# =<1 SER
C101 |EZUNZIE= 116.7 113.4 103.5 (%) (BN - FETBINR) / (SLBA- FEISHE) 1x 100
C102 @BEUNZIb=R 115.4 112.4 102.8 (%) [(E RN + BN )/ (B2 E R + B/ ER)]x 100
C103 |#UXszit= 117.4 112.2 102.6 (%) (HAUNZS/HAEF)x 100
C104 REXIESIER 0.0 0.0 0.0 (%) [RFERIBS/ (BRI — ZETBIN)]x 100
C105 f@ASEHE (UNZHIUASY) 0.1 0.1 0.2 (%) (IBRHTERAS/IRZEHIUNA ) x 100
C106 @AZLLE (BAMUIAS) 4.5 3.2 3.0 (%) (BABTERAS/BAKIXAGT) X100
C107 |HEE— ALz DHRKINZS 84,946 83,714 74,278 (FA/N) HEOKINZS BB EFT R ES
C108 [#A/KINZICH T BMBHREEDES 11.0 10.3 12.3 (%) (WE RS E/HKINZE) %100
C109 #A/KUNZS(ICH T B REEFEDEE 3.0 2.8 3.0 (%) ({BEEEFI S /487KINEE) X 100
C110 [#A/KINZS (T 9 BiRiEsED RS 17.7 18.0 20.5 (%) CRATEENER /487K UNZE ) x 100
ciyy RIS SREBRDTODER] g 5 100 12.0 (%) (RO OB RERT S/ HKIN) x 100

BEEETEDIE

C112 (#A/KUINZSICH T B REERS DS 158.6 159.6 181.1 (%) ({BEEER S /4a7KINEE) x 100
C113 |P&muR= 105.3 102.3 92.4 (%) (8T 487K BT ) x 100

B1%5 B Cl14 |{R#AE 162.4 161.2 140.0 (B/m?) faKUNER/ B IUKE

R [(REEA- (FH1IEE+ MARURERSARM+ MESEE+

CLIS #EkRim 134.3 1>7.6 1>12 (FR/m") EHRTSSRA)] / ERaEIUkE
C116 1HB10 m*YrDRERRS 1,080 1,100 1,100 Ge)) 1 hA10mPY e DRERRNS
C117 |1 HhH20 m*Hiz DREARE 2,505 2,552 2,552 (M) 1 MA20m3Y iz DRERRE
C118 mEhtt= 491.5 421.2 402.5 (%) (RENVERE/RENEME)x 100
C119 BECEAMMLEE 64.5 65.1 65.2 (%) [(BAZ+RIRE+ OIS HRIENE)/ &E - BRAFT 1x 100
C120 EEtt= 116.6 117.9 117.6 (%) [BEEEE/(BAS+RRE + AR +HREIRZE)]x 100
C121 |{bEEERTETRMENELLR 52.6 55.8 58.7 (%) (B R DIz DI EEE R TR/ SFERMIERE)x 100
C122 EEEELEmR 0.28 0.27 0.24 (=) (B2UNZS — FETBINS)/[(PEBETEEE + BRETEE)/2]
C123 BETE&EERDE 17.2 16.2 16.4 (m3/7H) FRIEKE/ R ETEERE
C124 HE—ALZOBEIUKE 523,000 519,000 531,000 (m3/N) FERIRBIVKE / 1B EEFTERS2K
C125 MEFEKRBRDEIS 0.04 0.01 0.05 (f4/1,000 #4) | FRAEFERMAE / (BEERM4E/1,000)
C126 |HEUUN= 96.7 96.8 97.2 (%) (KIEHALE FE8E) x 100
C127 |[#kELzEs 9.7 9.1 8.9 (£5/1,000 #)  $EKEBIEEEE / (¥a7K45%%/1,000)
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BELGEERE
4R X5 BS PI& H30 PIl RT PIE R2 PIfE =L} HER
C201 |/KiERfICBIT 2 EREUSE 0.75 0.80 0.75 (F/N) S NEE L TUVWDKERITCRE T 2 E8E / S
C202 A\ ERAFHERFR 23.4 16.0 3.7 (BFRE/N) (BEEHNEHMEZEZ IR ZHEAL) / 2EXK
C203 | IERHFHERSR 9.6 3.1 0.5 (BRE/AN) (BEENNEIHEZ Z 2RI X ZBAL) / 2B
— AMER C204 |#ftiiE =R 54.6 60.2 58.5 (%) (BB 2% / RS2 x 100
Jue C205 |JKIEZEFEFITREREE 9.7 9.3 9.3 (5/N) B S DK ERTERERER / DS
C206 |ERBRIREES 0 0 0 (A-B) S (ERRIMEES x HIEEE)
C207 ERHBHZAESR 0 0 0 (A-H) > (BB HZAEL x HEEE)
sepmer C301 1&REF|FEER 100.0 100.0 100.0 (%) (BFEUTTKEA—T—E /| KEAXA—-F—FREE) x 100
C302 BKIGEHE=EERTXR 0.0 0.0 0.0 (%) (BE=BFRFEUITRKIBOFKNEREE S / £8KHEEREES) x 100
C401 |ILERERIC K DIBERDIEME 3.9 3.8 3.8 (BB/14) LERERR E DELIREDER / fEKAFER
BRI C402 12—V MMCKBDIBEHRDIZEE 180 190 183 ([=1) T IR—ADIB O

C403 KR RFEIE 0.6 0.9 0.0 (A/1,000 N) |RZE&E#/ (GRTEREKAL/1,000)

HBEETFE C501 E=#~E& EMELTLVRWN | BEMELTLVRWL EEfELTLRW] (A/1,000 A) EZH A%/ (BEEHKALO/1,000)

MOA=1= C502 | 77> — NMESRINEEIS EHEL TR BELTLRL | BELTLWARW]  (A/1,000 A) P —REEAE/ (BRIEHRKAD/1,000)

g—>3> S C503 |Ei#EERAZE ERELTUVRLY | BIELTULVRL | L TLVRWN (%) (EESRARELY / 7> — ~No&E#) x 100
C504 [KEH—-EX(CHTIHERGEES 0.23 0.24 0.40 (/1,000 1) |KEHY—EXSIBEMAEE / ($67K42%/1,000)
C505 KE(CHTIHIBEMICEIS 0.11 0.15 0.29 (/1,000 ) | KEZEXSSAE / (FaK4FE/1,000)
C506 |/KENECHTIEHBHLEE 0.00 0.00 0.02 (/1,000 ) KEREEEX SR/ (faK4H£2/1,000)
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